Name:______________________

Period:______

Vector Addition


Component method of Vector Addition

1. Construct an X Y coordinate axis

2. Sketch approximately to scale each vector at its correct ( approx.) angle

3. From the head of each vector, drop a line to either the X  axis or Y axis.

4. Note that a right triangle has been formed with the selected axis (#3 above) and the original vector forming the hypotenuse.

5. Find the components of the vector that lie along each X and Y-axis by using sine and cosine functions.

6. Resolve each vector into its X and Y components.

7. Add (subtract) the components that are pointing in the same (opposite) direction on each of the X and Y-axis.

8. Redraw one vector by placing its tail on the head of the other vector. These two vectors should be on or parallel to the coordinate axis.

9. The resultant of the 2 or more vectors is found by drawing a vector from the tail of the first vector to the head of the second vector.:

10. Use the Pythagorean theorem to find the length of the hypotenuse (magnitude of the resultant)

11. Use the tangent function to find the direction (angle) of the resultant. 

12.  A resultant is what is formed when two or more vectors are thusly combined.  An equlilibrant has the same magnitude as the resultant above, but is pointed in the opposite direction. 

13. Find the components of each vector 1 and 2 below:

1)
50 kg at 53.2 degrees


2)
100 kg at 45 degrees


component on X axis___________

component on X axis___________


component on Y axis___________

component on Y axis__________

Find the components of each vector and combine these components to find the resultant and equlilibrant  of each pair of vectors.

3)
30 Kg @ 0 degrees and 40 Kg @ 90  degrees. 

Resultant= _______N @ __(   
Equilibrant = ____N @ _________(
4)
50 Newtons @ 30  degrees 
40 Newtons @ 60 degrees and. 

Resultant= ______N @ ___(
Equilibrant = ____N @ _________(
5)
120 grams @ 90 degrees and 50 grams @ 180  degrees 

Resultant= ______N @ ___(
Equilibrant= ____N @ _________(
6)
60 grams  @ 0 degrees and 60 grams @ 120  degrees

. 
Resultant= ______N @ ___(
Equilibrant= ____N @ _________(
7)
55 grams  @ 30 degrees and 105 grams @ 150  degrees

Resultant= _______N @ __(   
Equilibrant= ____N @ _________(
8)
45grams  @ 30  degrees and 45  grams Newtons @ 330  degrees.

Resultant= ______N @ ___(
Equilibrant= ____N @ _________(
9)
55 Newtons @ 45 degrees and 85 Newtons @ 150  degrees.

Resultant= ______N @ ___(
Equilibrant= ____N @ _________(
10)
45 Newtons @135 degrees and 45 Newtons @ 225  degrees. 

Resultant= ______N @ ___(
Equilibrant=_____N @ ______(
11)
55 Newtons @ 30 degrees and 110 Newtons @ 165  degrees. 

Resultant= ______N @ ___(
Equilibrant=_____N @ ______(
